Moce Homo Qene Ovs Linear Sushem
Exomples

\. Selwe. %° = {3 -"2..] X

2. -2
Sn\n‘-
- -2 \-
2 -2-¢ |

(2-)(-2-) ¥4 =0
-6 -3cx2e kv a=0
t-c-2=0

=-\ ac L

(A-c1)2 =0
Wwwen €= -\

o 1o 112
Zi 7 o

L{It = ‘2.22.- =0
22. - 22 =0 € Redundant




‘2.—2.'. o 21 =0

L0, =2 L.
Le Zi=\. C2a =72

2 = |
2

When <=2

5 2= e

Z\ - '2--21 =0
297, - 422 =0 € Redumdon’™

y S B i & )

Lekx 2i=\. T2 =

e S R %

2 ) = e
Seolve X [3 _q_} oy

Sm"m'-

f=x =& \_.
[3 —4-c | =%

Q- (-4-c) ¥ =0
~4-c Y4 xct¥6 =0
*+¥3cx2 =0
CexD(cxD =0
La—-d ¥Y3s=\

N



(Fl-flq)i:-,

when €= -

pas . Ha 18

311 ’2.21.*-'&
232, - 222 =a € Redundoat

?)-Z.\ - gy i W

1?.4 = 211 =0
X2, = AP e, E— Redundont

21. = L
A T.=\. T =1\

s [ ]
B L R



3| Solue T =[1 -x‘l'ir
'5 -

San:

2-C -\ =

\ 3 -1-r\ =
(2-N(-2-) 3 =0

—4-2cXx2c kT ¥¥=0
¢t-\=0

'2.1. 7. 'Z"L =0
32 322 =0 < Redundont

2. C).
LA Ti=\. TLaw\,

=-{]



When €= -\

A He=1E]

321 it ?al- -0

3% ~22 =5 € Redundank

311, T T2
ok Tawl, €3

Se\a:

°-c s, 1L Y
\ 2 \-¢ \ b

(S-eYQ\=-D+3 =0

t*-6cx¥V8=0
(c-2)(c-W=p
T“':. -'E.J {.L "-:.I-l‘

LN



(p-«c1DZ =0
When €=

32 = leq, ol

32, ¢ =0
Y = &2
LW ¢\, dar e 3

s 13
3

Whea <= 4

- Yt -\ ‘] ['2.1—1 - [bi‘
3 - Y 22 o
21 "'?.-1 =0

T T 22
L-(A" the=l, 11, =\,



‘S
“2C,=2 3D ="72

Cas 2-C,
=3
r

tl""'f‘)l e )
TL *22¢c ¥\ ¥\=0O
& 2% & § wo

T = 'b t _S_‘t"l -\Yoc

=0, __
- =2 tb"“-lb
=1 i 2t
_ -2 % Al
B T
= -\ x 2

(A-cID3Z =38

-\ = (- &2)) 1 [ _l i [n‘l
" —\-(:HQ.:; -



(."\ ¥\-21D)2, - 4z2:=0

Ntﬁrt‘— 1n F"f'xh, eNen ‘c&l" C.a-rnloltbt nutn‘bm_,
the 2 wvows ace shll \ineacly dependent.

- ?..;. -?.1. = ‘-12:-:_
=1ty =Ll

-y = 2
F
Led Th=2. 2= -\

o]
10 2)

Recall Phar X = e % T,
Tn this Case, becaudt we hove Complex eia-tnqt...l.ou
C= N: lw,

wee At riuk 7
B L Ty e
- € ,E. o ) T '
Buler’s Fotmolo - €'% = cosle) Fiswnle)

Hence, % = ™" (Cos Cud) ¥ sin LN Z,
T Thas exomple, A= -\ and L=72,,

I = élr Cﬂub C2€) * \swn E.l'lr."}\J ( Y:?- - -‘EC}]\
& -\

< e” Cos (2t Y‘ ]_ oF S\ ) d bl
\ (e Cos C.z*}[ -] ¥ e¥ s C.‘Z.QY_ ]\




= G (e Cos (26 [11 e
o
' sin () [E]}

s (e Cos ) Y_t;] N

-5 \ =

\ 5% e R
(L-<)(2-) ¥S=0o
-4 -2cXc 4 ¥S=0
{1' *\ =0
t = -\

—

-0, = S22
C2-\NT4, = 22
=

S Y‘f_ﬂ} X



<X

e *

= et
= Cos (%) ¥ \swnk)

(cos (6 ¥ isin () ( {_i] ks I‘T])

= Cos (e { '] SR LD [_‘} 5mm[ ]
—c!
%9 C, (f_-.ﬂm {'ﬂ-‘ S\ (%) DD =
S 3 i 3



q’. Sﬁ\.\aﬂ, -'j:' = (\ _\_Xi
S -

Sa\nt

\-C =\ -
\ 5 -3¢ \"‘c’

(\-)(~-3-c)xS=0
-3-Cx3c k<" ¥5=0
<X 2c x2=0

C=-% = 5"!:1-‘-\.&1:.
AT
— % Ja-¢
g
BNl 2o~ 3
i

= “\E\ D G-\ &\, C2=~\-\

(B-<1V)L=T§®
LWhen €= —\%\

\= ()~ 2. _ Y_ﬁ]
e "-'5-'(."\4:'{'} g o

(\=-( A2, -22=0
Cix\-Dt=Ca
C'Z.-'x")'ln ='.z..1_

L T\, T2= 21

==
JSES



- =

m-e“*‘“([ it
ettt ([1] +[3])

e = Cos(4) & \gin ()

Ceos (6 +15'-.nm)( [:?—'—_I , {?‘1)
= Cos(Hd [;] S [E:_J G
\ (Sin(.t‘) {;] ¥ Co% (O [E‘J)
C.e™ (c;,.s (< [;_J - S [ﬁ]) B

Care® (ﬁlmm [1] o Cos () Ea])
¥ -

¥
(l

N2



3

Se\we, W’ '-:‘-\-_‘5 =%\ %

\ =

S:::'cﬁ'-

2% -1 B
e v
(3-)(—\-°) ¥x¥=0
-3 -3 xc Y=o
‘EL -2C ¥\ =0

(=0 =0

€ =\

(B-<I)T =06
whea <=\

D) - \ - )
\ -\ =\ g & 7 (o

221 - 4T =0

L= 22 =0

L= L3,
2

Lak Th= 2. 2\

; = 2
\

(M



Becave we Yove <e

%
°

(R-xTHE =2

EmeRAL R

?.P'I. "'u(?lf"—:’—-
P -2 =\

NeA <oes,
= Chet™Z ¥ Ca(4e™ 27 & e 3F), whexe
s o genes c\ized ﬁ%mutﬂrb{.



@ -\

Seln:

a-¢ -2\
\ 2 —%-f\’c

CU-eYI(-4-1) *\6=0
“\6 -4 YN AT v6so

r =

\ T
-0
(p-<TNZ=0

when T=o

4 -2 s - O
2 -\ i A Q
42, - 2% =0

‘2.11 T -2-1- =0

Ve =22
LeXx Z.=\. T2=2.

f_‘“H

Y, = L'E.f* > B C,'.-__(*t Z X E‘i‘r %3



(A-<TOF =7

IR =1

2. =P =\
2

Lek Puso, Papoa o

Bt
s €3 i 5 L 2

\6



